X
iy

0—3

o
(¥

o
(¥

x107°

< 5 cot(®) >
=
a1

o
i

o
i

<d cp>p(rad)
[
(6)]

(o1 R RN Y| 2% RV 1 S Y CRE -PPCPRR | Yoo '<t Rl FOF - PR SRR 1 FPOE | | | £ ROPPRXORS
=0.05F- 1 f A bl =008 e A A

N
TTTTIT I TTTT

OO O T T

1 2 3 = -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
[—=— DQM_original_stepZ_tibar-phasel-newgeom
—e— DQM_mkFit_step2_tthar-phasel-newgeom
—— DQM_angle_step2_ttbar-phasel-newgeom
—+— DOM fast_step2_ttbar-phasel-newgeom

W

*

gl"c 5 glOC : : :
~ i il ]
& 601 5* 60ffl -1 il
o : [2e] : : d
v 40k 1»5- PAFRY! - v  40H+ - - 1
20§+ 11114 st 2[R e 1 ‘
0 ‘ 0 T T el i
: 5 il ¢ "
-20 & [/ wibel -20 - y v y G
-40 f 4 -40 it Tl
-60 i -60 : L
-80 SR -80 §
9_100“|||||||||||||!||||!|||||||| .gloouuuuluuuuluuuu |||!||||I||||
IS o [ f i T 2 Hi
[ad 2t Ir 1 q e 1 4
o i 1 T [411LL) i LI 1

ﬂ-ﬂf- iR AR AR i
(IR T T Tl 1L i 1Tl | f g b !

0 ¥l FA h 1 q 0 W ] i i

-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

<opJp,> (%)
O = N W N O

TT T [T T T T T T T T[T T[T [T T [T T [T T T T[T T[T TT[TTTT

o o T :
g 2 I 7
- : 5
- T T E A1
: L : ] [T #
0 : j A A ] i
=3 -2 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


